














7. Bunny is a calculus student at Enormous State University, and she’s having some
trouble. Bunny says “OMG! Calculus is hard enough, but there’s this really stupid
guy in my class who makes it even more impossible! We were supposed to work in

L1

pairs on this one problem, and the guy said that tan~! z could break up into = = =

cos
and then we could do this one problem. But I don’t even think that’s right, is it?”

Help Bunny understand whether the suggested expression is equivalent.
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8. A particular cell phone battery has a peak capacity of 5500mAh at the time of purchase,
and after 8 months has a peak capacity of 92% of the original.

(a) Find a function of the form f(z) = Ab” for the peak capacity of the battery after
z months have passed.

oo
(b) What does your formula project the peak capacity will be after 12 months?
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(c) At what rate does your formula predict the peak capacity will be changing after
12 months? ,
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